Y

1 do
o dy;

S [pbl

[—2.6, —1.8]
[—1.8,—1.35]
[—1.35, —0.9]
[—0.9, —0.45]
[—0.45, 0]
[0,0.45]
[0.45,0.9]
0.9,1.35]
[1.35,1.8]
[1.8,2.6]

(3.21 £ 0.061 £ 0.163) x10~2

0.143 £ 0.001 £ 0.003
0.246 £ 0.002 £+ 0.007
0.313 £ 0.003 £ 0.007
0.35 £ 0.003 £ 0.007
0.349 £ 0.003 £ 0.009
0.312 £ 0.003 == 0.006
0.252 £ 0.002 £ 0.009
0.143 + 0.001 =+ 0.008

(3.187 + 0.06 + 0.206) x 102

0.363 = 0.007 £ 0.033
1.619 £ 0.016 = 0.115
2.785 £ 0.027 £ 0.182
3.537 £ 0.032 £ 0.222
3.961 £ 0.035 £ 0.258
3.943 £+ 0.034 £ 0.257
3.522 £ 0.031 £ 0.218
2.846 £+ 0.025 £ 0.189
1.62 = 0.016 + 0.138
0.36 + 0.007 £ 0.034



